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Note:- You have four choices for each objeciive type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Writc PAPER CODE, which is printed on this question paper, on the both sides of the Answer Shect and fill bubbles accordingly,
otherwise the student will eresponsible for the situation. Use of ink remover or white correcting fluid is not allowed '
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A train is moving at a speed of 36 kmh . Its speed
B expressed in ms ' is.
Ns™' Ns kgms‘z Nm “‘.a“ﬁ’.’is/fﬁ/’/c“u:‘j:j’?”w 3
hich of the following is the unit of momentum
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L ) Newton's first law of motion is valid —e b Oub
Momentum Torque Net force Velocity : ‘
- ' only in the absence of
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Acceleration ALY Speed is Accelérafion | A body is in equilibrium when its
o Speed and i . .
is zero reelotion uniform is uniform
Y are uniform
I 1000km | 42300km | e | 6400 km e Qe Aeid ) NS
' N Infinity Earth'§ gravitational force of attraction vanishes at
e biid | edestlle | ol e FuetdS A edE
1 ' Becomes Becomes Becomes Remain the | Ifthe velocity ofabody becomes double, then its
| half four times double same kinetic energy will
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The number of perpendiculat components of a force are
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ST unit of pressure is pascal, which is equal to

L S o i eSS st dr L2 S et ditn | 1o

Which of the following materials has large wqddy:

Steel Brass Gold Aluminium | yajue of temperature coeffivient of lincar expansion
. L it Ll b LEGAL | 1
gx10° K" | 8x10 K | ex10”K | 2x107°K S d St @S Lt g 2x107 K
What will be the value of 3 for a solid for which
has a value of 2x10 K7
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- Rapid Small size Big sizc of Free Metals are good conductors of heat due fo the
| vibrations of of their their electrons
E'. __their atoms molecules | molecules
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Answer bricfly any Five parts from the followings.
Define Physicat quantities and Scicntific notation.
Write two important parts of vernier cqlipers.'

What is meant by zero exror and zcro correction.
Define position and give an example. u:)dl*/mévé//?
Draw the graph of constant speed.
Define inertia and momentum.
What is meant by friction? Why rolling friction is less
than sliding friction.
Answer briefly any Five parts from the followings. 5 x2=/l.{)
What is meant by axis of rotation? ?;WW&*;@VQ G0
State principle of moments
Do you attracts The Earth or the Earth attracts you? Which one is

attracting with a larger force? You or Earth.

Write two purposes of artifical satellites.
What is meant by ‘g’ Also write its valuc.
Define efficiency and write its mathematical formala.

A cyclist does 12 Joules of useful work while pedalling his bike from
every 100 Joules of food energy which he takes. What is Higefficiency?

Answer briefly any Five parts from the followings. 5%2=10
Define density and clasticity??é_,é//jJé’:‘/l}:,wlLj“’;-J (}fj/
Differenciate between stress and strain?
Define the terms heat and temperature?

Define specific heat capacity and write its unit?
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What is moment of a force? ?q-LfJ/:;Jwa'
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State Hooke's Law? 0t Gl
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What is meant by Convection Currents? Vc,wwfgfb/u:‘/jg/
What is the difference between land breezes and sea breezes? V@J)prﬂfdﬁ(ﬁ)};f(j/f—)‘
How does heat reach us from the sun? ‘f:‘:.[}’f; qff(TQGJr a7
5%\ PP I 23 DR ST
Note: Attempt any Two Questions. 9%x2=18

State and Explain Newton’s 2nd Law of motion.

A train start from rest. It moves through 1 Kmin 100 s with
uniform acceleration. What will be its speed at the end 0f 100 5.
State and explain the law of gravitation.

A car weighing 12 kN has specd 0f 20 ms . Find its Kinetic Energy.

Define coefficient of volume Thermal expansion and prove that =

A wooden block measuring 40cm x 10cm xScm has a mass 850g.

Find the density of wood.
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front of that question number. Use marker ot pen to fi
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F © | (© (B) (A) QUESTIONS Q-1
) f“/;f S R B S|
I S _ Torque Energy Rate of doing work is called.
o ; g 3 eSS BARST AT o
The number of derived units in S are.
JP o Lol L L S i sl e tditn | 3
Which one of thé,lfc;lloWing is a vector quantity?
Force Mass Distanee Speed o wn
Ut Lol Js Sk i E ,4;/,1/,5/‘&{47 v (“/ v 4
Mass Distance Force Torque Rate of change of m&‘ngh@umx §¢é'§u31 to
Y, e ORI ;
J, 24 V)/ju. [f",_/), y%’}‘i)r/‘d)/féu//yu/( 5
The turning effect of force is called.
Work Pressure Torque Momentum
G LS P gl U e dndiimsn GhosidSEg A | 6
Square of Radius Velocity Mass The €entripetal force is inversely proportional to
Velocity
7 H 7 .
o [ o o e ( ) ‘. 2 b L 5 i
90 180 60 45 K/“:/U&/})LJJ;MJ»’?%{)’/‘J} 7
The work will b€ zero when angle between force and
displacement is
JaSgi A Sy K o e Qb SO ey L7 ¢ | s
Buoyant Pressure Young's Strain The force exerted perpendicularly on unit area of an
force Modulus object is called.
mc? - £ m N A T R E N vy 1 il e
m c V¥
[f“m” is the mass of a body and “¢” is its specific
heat, then its heat capacity is given by
1 ) 3 4 'wy.s»:;dﬂyc:—u}a/éd?oﬂ/ 10
The ways by which transfer of heat takes place are
I - - . o £
g = AV e AT _4av B AT | oS U Gl et 8 Sikd e | 11
VAT AV AT VoAV | In symbols, co-efficient of volume expansion is
defined as '
wm?K' | wm 'K WK Wm K ce AU FAST AT 12
In S1, unit of Thermal conductivity is
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Answer briefly any Five parts from the followings. 5x2=10 vu'f/f ut‘i/"” izl @Lc,ufc;u..d’)ﬁw -Z/Jlr

Define base units and derived units. -iu’ JL/' ;’J:’L/;Id)b* )
Define Prefixes and give an cxample. «Z;’_“;)db ..,{lu Z.J:».,g{/“ J)»&B » G
Estimate your age in seconds. e b lireuia 5y i
Differentiate between displacement and distance. érul/u/u',l«ﬂb/;l : ;4‘]; Gv)
Define gravitational acceleration and write its value in SI unit. &‘gngJ!JujSI/sic-J/’Ju’ l’c (J/d)'/ (v)
What is meant by uniform velocity? w2 c_,(j’ (/U/)’ {vi)
Define momentum and write its unit. -digu!"{(,/l/:’c’--ﬂ/ d/f‘/“’ {vii)
Why rolling fiiction is less than sliding friction? te dnfud e jbrv ) B Giid)
Answer briefly any Five parts from the followings. 5x2=10 -u’//fuui'/"’ﬁ!]!(‘;Lc.,ijfc;,ufgf:(/u -B/Jif
Define Torque and write its equation. Vé_{f/ ._zh(/upl/;léfuﬂ/} JJB €]
Define Moment arm and Rigid body. -i...g{/j Jd}hg//;l(/l T €1
What is meant by Resultant force? ?q_,)!/;l(‘/agj/}&ﬁ'/“; (i)
What is meant by the force of gravitation? Sl Vs f‘(ﬁ’/’ Gv)
Write two applications of Artificial Satellites. -é/qub”“l»é:u”’ Md ~ )
State Law of Gravitation. w:;’..utf IEES d:’/ (vi)
Define an Ideal system and write its efficicney. 9 ’Jo;gdjufumf,é_g/ J("/dg/_{ (vii)
Define Watt. _é__é;/JJg,], (vii1)
Answer briefly any Five parts from the followings, 5%2=10 -Q’/4iw§lﬁ/iy¢/._'ziékcé!@dﬁdibu .A/:".'Jiy
Define pressure and write its formula? V&J‘_TU%/BK/U;M/VQ/TL;/Z; @
Differenciate between siress and strain? “LJ}JJU//;?J’/ (i)
What is meant by atmospheric pressure? "LJI/LJ/C,//J/" e Gid)
What is meant by internal energy? "Lﬂ/tfc;u’/'gf/w(()u/ Giv>
Define heat and temperature? Sy dj./: ez ()
What is meant by transfer of heat? ?g_nfgcuvduﬁx (vi)
Differenciate between Conduction and Convection? "Ei—(J/Lj”Lf"gﬂ//Jl Ao (i)
Why are metals good conductors of heat? "u“& ﬂuﬂ//’/"/f&(fl'/u’ (viii)
Parte e eeeeee e II (9= e
Note: Attempt any Two Questions. 9x2=18 -u’)/ ;VLIJLVUI;’,;:.J/..
Define significant figures. Write down two rules in identifying Jﬂ!»éwl/d/ury;(bu_’/i{l/ Ju;awf’ ()5
significant figures. vq/ug
A train moves with a uniform velocity of 36 kmh'' for 10s. Find Cd/(?f.flﬂ 1 0&—&”5(/&?{’(,{36 kmh”' ALl ()
the distance travelled by it. ~é()"’)f"lio)/.}i,5;l_§.
Statc and explain first condition of equilibrium. -q/yuwu/ug«. fL/’uLf{'J(f/d)gf (a6
A block weighing 20 N is lifted 6 m vertically upward. Calculate the Ul Y6 me St Sudis 20Nt )
Potential energy Stored in it. ,Zfr;b’&)lﬂ‘gdbé,.ﬂa/jj
State Pascal’s Law and Explain the working of Hydraulic Press. Z:KMLZ)JL/(KZ:L/J/»JJM /J’%{ukuiﬁﬁf’g ()7
A brassrod is Im long at 0 °C. Find its length at 30 °C. (Coefficient JUJJI‘LQIJKVQ/,;/‘O OCJ?Z.,U/JJ;:?\,Q (b)

AR L Qs dp LS Gt 30°C
e L9x107K A

of linear thermal Expansion of brass = 1.9x 10°K™)
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